BTech

BT5442 AV Mounts

elements » fixed 600

Flat Screen Wall Mount

Installation Guide

(X=X X—XX—XX—XX XX XXX,

(X=X X=—XX-—XX =X X—XX—X X=X XX
{

* Recommended for screens up to: 80" (203cm)
* Max load: 70kg (1541bs)

+ Suitable for screens with VESA" and
non-VESA fixings up to 650 x 400mm

Post Install
Alignment

* Mounts screen 28mm (1.1") from wall

* Simple ‘hook-on’ installation with all
mounting hardware included

www.btechavmounts.com




Contents Pg BT5442

Installation Safety Notes 2

Parts List 4
Installation Instructions
Product Dimensions n

B-Tech Contact Details 12

Installation Safety Instructions

Caution: This mount is intended for use only with the
maximum weights indicated. Use with equipment heavier than the
maximum indicated may result in instability causing possible injury.

Do not attempt to install this product until all instructions and warnings have been read and properly understood.
Please keep these instructions for future reference.

Please check carefully to make sure there are no missing or defective parts - defective parts must never be used.
B-Tech AV Mounts, its distributors and dealers are not liable or responsible for damage or injury caused by improper
installation, improper use or failure to observe these safety instructions. In such cases, all guarantees will expire.

General

B-Tech AV Mounts recommends that a professional AV installer or other suitably qualified person install this product.
Great care must always be taken during installation as most AV equipment is of a fragile nature, possibly heavy and easily
damaged if dropped. If you do not fully understand the instructions or are not sure how to install this product safely, then
please consult a professional for advice and/or to install this product for you. Failure to mount this product correctly may
cause serious injury or death both during installation and at any time thereafter. Do not mount any AV equipment that
exceeds the specific weight limit of the product you are installing. This weight limit will be clearly stated on each product
and its packaging and will vary from product to product.

Product location

Please pay careful attention to where this product is located. Check load capacity of the wall prior to installation as some
surfaces are not suitable for installation. Designed for indoor use, this mount is suitable for public or home installation.
If located in a public or frequently populated area ensure that the product is out of the immediate reach of people. If any
AV equipment is to be suspended over the likely path or location of people then great care should be taken to secure all
parts of the installation from falling. When drilling holes it is essential to avoid contact with electrical cables and water or
gas pipes contained within. Use of a good quality live wire detector and hidden object locator is therefore recommended.
Only drill into structures when you are sure it is safe to do so.

Fixing hardware

It is highly recommended that all fixing screws be used where supplied and that the purpose of all other fixing hardware
is fully understood. In some cases more AV equipment fixing hardware will be supplied to accommodate different models
of equipment and set up configurations. The installer must be satisfied that any supplied fixing hardware is suitable for
each specific installation. The fixing kit supplied with the product may not be suitable for all walls. If any fixing screws or
included hardware are deemed not sufficient for a safe installation then please consult a professional or your local
hardware store.

Hazard limitation

When routing cables take advantage of any built in cable management features that the product might provide and ensure
that all cables are tidy and secure. Check to see that any moving aspect of the product can do so unhindered by any cabling.
Some products have moving parts and the potential to cause injury through the crushing or trapping of fingers or other
body parts. Particular attention to the nature of moving parts is required especially when assembling installing and
adjusting during set up. Immediately after installation double-check that the work done is safe and secure. Double-check
all necessary fixings are present and are of ample tightness. It is recoommended that periodic inspections of the product
and its fixing points are made as frequently as possible (no more than 6 months apart) to ensure that safety is maintained.
If in doubt consult a professional AV installer or other suitably qualified person.

BTech 2

AV Mounts



CN

(&)

DE

EN

ES

FR

JpP

KR

NL

PL

PT

RU

B-Tech AV Mounts WA RHEWAVEEA R HMEEARLE. B-Tech AV Mounts REMNRIER, ZBHANET
FRENZEMERNRAIHENTR. F-RLSRARERESENEL L , HUBTFABEFMFRRHNEREE.

Spolecnost B-Tech AV Mounts doporucuje provést instalaci tohoto produktu instalatora AV ¢i jinak zpUsobilé osoby.
Spolec¢nost B-Tech AV Mounts, jeji distributofi a prodejci nenesou prostfednictvim odborného odpov édnost za Skody
nebo zranéni zp Usobena nevhodnou instalaci. Tento vyrobek je nutno umistit do vhodné konstrukce a pouzivat jen
po uvedenou maximalni vysku.

B-Tech AV Mounts empfiehlt, dass dieses Produkt durch einen qualifizierten AV-Techniker oder eine andere Person mit
geeigneter Qualifikation installiert wird. B-Tech AV Mounts, ihre Distributoren und Handler kénnen nicht fur durch
fehlerhafte Montage verursachte Beschadigung oder Verletzung haftbar bzw. verantwortlich gemacht werden.
Dieses Produkt muss auf einem geeigneten Untergrund montiert werden und darf nur bis zum angegebenen
Hochstgewicht verwendet werden.

B-Tech AV Mounts recommends that this product be installed by a qualified AV technician or other suitably qualified
person. B-Tech AV Mounts, its distributors and dealers are not liable or responsible for damage or injury caused by im-
proper installation, improper use or failure to observe these safety instructions. In such cases, all guarantees will expire.
This product must be mounted on a suitable surface and may only be used up to the specified maximum weight.

B-Tech AV Mounts recomienda que un instalador de audio y video profesional u otra persona debidamente cualifica-
da instalen este producto. B-Tech AV Mounts, sus distribuidores y concesionarios no se hacen cargo ni se responsa-
bilizan de ningun dafo o lesion provocados por una instalacién inapropiada. Este producto se debe montar en una
estructura adecuada y se debe utilizar soportando solamente hasta el peso maximo indicado.

B-Tech AV Mounts recommande de confier l'installation de ce produit a un installateur AV professionnel ou a une
autrepersonne diment qualifiée. B-Tech AV Mounts, ses distributeurs et ses revendeurs ne sauraient étre tenus re-
sponsables de tout dégat ou de toute blessure résultant d'une installation incorrecte. Ce produit doit étre monté sur
un support approprié et utilisé dans la limite du poids maximum indiqué.

B-Tech AV Mounts consiglia di affidare I'installazione di questo prodotto a un installatore specializzato o ad altra per-
sonaadeguatamente qualificata. B-Tech AV Mounts, i suoi distributori e rivenditori non accettano alcuna responsa-
bilita nei riguardi di eventuali danni o infortuni causati da un'errata installazione. Questo prodotto deve essere fissato
a una struttura idonea e utilizzato unicamente sino al peso massimo indicato.

B-Tech AV Mounts FAVERBNDEMREX LGB BEL tABERA AN RRERBIDE2HEBLET, B-Tech AV Mounts&
BREEIE, BBl AR CS LEREBHICRDBEVESCHAENZRERAOEBEEPEEINTIETEAVELA, %Aca:o'ci
BABREBENDICELTVWEVEC2EHDOTRENEICHABIEEZBEITLEEVY, CORRONUBICEEEZMET TR
CBEULTLWEVEFVZAZEALTKEEV, BELLECHREZBRBTDAVEREZERLBZVTIEZL,

B-Tech AV Mounts = AV x| HE7} = HM§dh x|A12 ZE A0l MES MARISHES HEELICH B-Tech AV Mounts 2 Zof
T, HelxE olefdt o X|EE WEX| ofg Zo futE MEo| 4oLt Aaflol CHEF 2els X|X| ef&Lct ZRol mtet ME
ol Mx|Z|7|of MEtstx| gt REL o2 M| fIx|ofl SYE Fo|8 7|20 FA|IZ| HIEILICH ME | x| Ixlol FoIE 7|2
01 EOItMAIR. RIHE 2 MEt2 X35t AV FHHIE TR 0HYAIL.

B-Tech AV Mounts adviseert om dit product te laten installeren door een professionele AV-installateur of andere
hiervoor gekwalificeerde persoon. B-Tech AV Mounts, haar distributeurs en dealers zijn niet aansprakelijk of verant-
woordelijk voor schade of letsel die is veroorzaakt door onoordeelkundige installatie. Dit product moet worden gem-
onteerd aan een geschikte constructie, waarbij het aangegeven maximum gewicht niet mag worden overschreden.

Firma B-Tech AV Mounts zaleca, aby ten produkt byt instalowany przez profesjonalnych instalatoréw AV lub inny od-
powiednio przeszkolony personel. Firma B-Tech AV Mounts, jej dystrybutorzy i dealerzy nie ponosza odpowiedzialnosci
za uszkodzenia lub obrazenia ciata powstate w wyniku nieprawidowej instalacji. Niniejszy produkt musi by¢ amontowa-
ny na odpowiedniej powierzchni, a podczas uzytkowania nie wolno przekracza¢ podanego maksymalnego obciagzenia.

A B-Tech AV Mounts recomenda que a instalagdo deste produto seja efectuada por um instalador de AV instalador
de AV profissional ou outra pessoa devidamente habilitada. A B-Tech AV Mounts e os seus distribuidores e conces-
sionarios nao sdo responsaveis por danos ou lesdes causados por uma instalacdo incorrecta. Este produto tem de ser
montado numa estrutura adequada e utilizado somente até ao peso maximo indicado.

KoMnaHua B-Tech AV Mounts pekoMeHayeT, YToGbl yCTaHOBKa [aHHOMO U34enmsa Mpomn3BoaMIach MHXEHEePOM Mo
YCTaHOBKe ayatno-BMOEOTEXHUKN WU OPYrvMM CheuuanicToM C COOTBETCTBYIOLLEN KBanudbukaumen. KomnaHmsa
B-Tech AV Mounts ee OUCTPUOBLIOTOPbLI U OAWNEPbl He HeCyT OTBETCTBEHHOCTW 3a MOBPEXAeHUs WU TpaBMbl,
nonyyYeHHble B pesynbraTe HeNpPaBUIbHOM YCTaHOBKM.

Ladia Sl Jase gt 5l AV JI S 5 (3 G jine il (b 83 saaa Al 55l Gl - oy a8
,iJ\Fy\&ujw}iu}mJu\,@;)y Al s laillelio oy il 13 S 53l
u\k_\;.\ MMA_!LA.\L_\“OM a\.c\).qe.\c J\?ﬂmﬂ ?‘MY‘} 5@.\}..»)4: A-lJS)JugAA;U‘AAL\LaY\
_A:Q_\v)w\‘lun&yaﬂY\Aﬂ\ﬁﬂkﬁu‘m\%_}wu@‘gfmd\ KV u;\s_)a,ag

3 BTech

AV Mounts



BT5442 Pa rts List

Please keep this for future reference

T I I I I\

I I I I I\

BTech

AAAAAAAA



Item Description Qty
1 Wall Plate 1
2 Interface Arm 2
Screen Fixings
A M6 x 16mm Screw 4
B M6 x 25mm Screw 4
C M6 x 40mm Screw 4
D M8 x 16mm Screw 4
E M8 x 25mm Screw 4
F M8 x 50mm Screw 4
G M6 Washer 4
H 5mm Spacer 4
| 15mm Spacer 4
J 25mm Spacer 4
Q Wall Fixings
Al M8 x 50mm Coach Screw 6
<
A2 M8 Metal Washer 6
A3 N°10 x 50mm Wall Plug 6
° 0 Q Installation Tools Required
S % ﬁ . (7/15)rinlqlasonry " Pencil Screwdriver
or 6mm (1/4") wood bit
ﬁ
=
Level Stud Finder
(Optional)

Suitable for loads up to 70kg (154lbs)

s BTech

AV Mounts



Installation Instructions

'I Fix Wall Plate
®  Fixitem 7to the wall using one of
the following methods:

a. Brick / concrete walls.

10mm (7/16")
masonry bit

b. Wood / stud walls.

6mm (1/4")
wood bit

Stud Finder
(Optionai)
Al

BTech 6

AV Mounts



2 Attach Interface Arms To Screen
¢ Fix item 2 to the rear of the screen
using items A - F
Note: Ensure the arms are facing the
correct way round and the same holes
are used on both arms.

' Note: Use item G with
M6 screen fixings

Screen

Note: Use spacers (items H, 1 & J)
for screens with recessed fixings.

|
|
I
screen ‘ ! D,,,i,,

7 BTech

AV Mounts



3 Mount Screen Onto Wall Plate
[ ]

i. Using item 2 hook screen onto item 1.
(This may require two people).

Screen

—

Wall

Note: Push gently on the screen to engage
locking mechanism.

Locking
mechanism
engaged

Screen .

%

BTech

AV Mounts




Note: Use the magnetic ends on the pull strings
to hide the strings behind the screen

Pull String

Screen

Wall

ii. If necessary, once mounted adjust the
screen laterally.

BTech

AV Mounts



4 Removing The Screen
°

Pull down on the string attached to item 2 to
disengage the lock. Then tilt the bottom of the
screen forward and lift screen off the wall mount.

Note: Pull the bottom
of the screen forward,
then lift screen up.

N~

Wall

B ©

Pull string to release the
‘hook-on’ mechanism.

BTech

AV Mounts

10




o o
BT5442 Dimensions
Piease keep this for future reference
Front View 735.2mm[28 94in] Side View
683.1mm [26.89in] 27mm[106in)
X o) Y
[] @8.4mm [033in] []
23 o
ZF o A
ﬂ > ( > ( > ( ) )‘ { )‘ C > ( ﬂ ]
2|z =l Q ~B — 812mm [3.2ir] o g
D=5 S U [] 3
@| ® 0 6]
A RS et sk ® ® =
el el gl € £
£ ElE|E N0 0 &
88|18l efto ° 8
N g ) < ) ) ) < ) ) ) g N =
4%110 H a
- o
< o ;‘ &
0 0 £
20) q/O ) £
N & Pl =
0 0 fﬁ 3
T 650mm [25.59in] \T
‘ (Max Width) ‘
630.1mm [24.81in]
Back View 467.7mm[18.42in] S
[] 305.4mm [12.02in] = U
M
[¢] =y 19.4mm [0.76ir] o, [¢]
0 B8 e o
5 Moo 5 b
I > > > < > ( C C I
L
el = ° — ° =
3 ¥ B ‘ o€ 3
s e/ Vi E €
€l gl € "o g
€| £| E 2 £
i 5 2 g
28]~ o ) Q
- ! (I > ( > ( ) ( D | ( > ( D> C 1)} I
O it O
[] 61.8mm [2.43in] []
o 67.1mm [2.64in] °
S) 367.4mm [14.46in] 2]
(Centre)
<f| £t
Top View 5 & é%;
These instructions are intended as a guide only and B-Tech accepts no liability for the accuracy of the information contained in this document.

n ||B Tecl'i

AV Mounts



BTech

BT5442 AV Mounts

Contact: info@btechavmounts.com

©2024 B-Tech AV Mounts Corporation Ltd. All rights reserved.

B-Tech AV Mounts is a division of B-Tech AV Mounts Corporation Ltd.

B-Tech AV Mounts and the B-Tech logo are registered trademarks.

All B-Tech images and symbols are exclusive property of B-Tech AV Mounts Corporation Ltd.
All other brands and product names are trademarks of their respective owners.

Any reproduction, retransmission or republication of any part of this manual is strictly prohibited, @
unless prior written permission has been granted by B-Tech AV Mounts Corporation Ltd.
Photographs are for illustrative purposes only. E&OE %

AMA-BT5442-V31-0924-137 Made in the P.R.C.

www.btechavmounts.com/bt5442




